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x+a x+a x+a
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ciiohii  6.1.4 9un-k lim  (3x2 + 4x - 5)
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1.1) lim (x2  - 8)

x + 2

1.2) lim (x2  - 9)

x + 3

1.3) lim (x3  - 2x + 5)

X-+1

1.4) lim (x5  - 2x3 + 3x2 + 5)

x + - 2

1.5) lim (x2+3x-6)2

x + 2

1.6) lim (x2  - 16)
x + -4 (x  + 4)

1.7) lim lx2 - 5x + 6)

x + 2 x - 2

1.8) lim 5x3 + 8x

x+0 4x2 + 3x



1.9) lim (4x2 - 5x + 6)
x+ - 6x2 + 10

1.10) lim 10x4 - 3x3 + 2x2 - x + 5
x+ - 2x4 + 3x3 - 4x2

1.11) lim x2h + 5xh2 + h3
h+O 5xh + 5h2

1.12) lim x2h + 5xh2 + h3
h-, 0 5xh + 5h2 + 3xh3

1.13) lim ax3 + bx2 - C
x+ - dx4 + e

1.11) lim h4 - a4
h+a h2 - a2

2. oy7 f(x) - x

wn7 lim f(x + h) - f(x)
h+O h

3. iA f(x) = 3x2

wn7 lim f(x + h)  - f(x)
h-+0 h
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h+O h

dl& f ’ (x) tvil~uun1l1nn~ou
f(x + h) - f(x)

h tdn h t&~na'

qufi  (0)

nuiurnq uiufl~%l  #qS-vG 2Ydx (&u-h  (~-JIU  UIU  At&-G  ) n% $ f ( x )  Ml0

Y’ ttnu f’(x)
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3&h 9777 f’Cr3  = lim f(x + h) - f(x)
h+O h
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.‘e f(x + h) - 3(x + h)2
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K&d f’(x)

= 3x2 + 6hx + 3h2

- lim 3x2 + 6hx + 3h2 - 3x2
h-+0 h

= lim h(6x  + 3h)
h-4 h

I lim (6x + 3h)
h-t0
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3% 9-m  f(x) - x2 + 2x

f(x + h) - (x + h)2 + 2(x + h)
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:* f’(x) - lim x2 + 2hx + h2 + 2x + 2h - x2 - 2x
h-+0 h

m lim 2x+h+2
h+O

0. 0 f'(x) = 2x+2
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- 3(5~‘-~)  - 2(4x4-l) + (3x3-$ - (2x2-$ + 1

- 15x4  - 8x3 + 3x2  - 2x + 1

3

1;  y = x2 + x7  - 4x5 - x + 5 9un7 %i
d x

3
?

1
97n  y - x2  + x - 4x2 - x + 5

. 52, 2d $
l l dx $+zx -2 bx+  A$ + g

1

- 4 (+x2- - l) -1+o

3G 2= 2 x +  y---- 1
A-

4;  y =
3

ii2
wni iY

d x

-
ZHI  y = 3x-2 -I- 2x-1 + 2x

. 2x dx-2
’ ’ dx -3z

+ 2g

1 1
SW

+ 2&

2 Td x
-zi



ll --I1B-w
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d5tnild  8.8.7 iHI f(x) - x3 (x2 - 1)

wn f(x) - x3 (x2 - 1)

uu@iiG fl(x)  - x3 usr f2(X)  - (x2 - 11

:. q-p - $ (x3 (x2 - 1))

3 d- x -& (x2 - 1) + (x2- 1) & x3

- x3 (2x - 0) + (x2 - 1)(3x2)

- 2x4  + 3Jc4 - 3x2

= 5x4 - 3x2

Yihi n2luuua3wn7

wn f(x) - x3 (x2 - 1)

5 3= x -x
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X-d L&  p r i m i t i v e n% ti!h&Bufln%uou  4x3  &PA-,  L&+I

1) ;i;;  xd 4p4x3

2) & (x4 + 2) - 4x3

3) $ (x4 - 3) - 1 4x3

4) & (x4 +c) - 4x3

t  C  L&J  p r i m i t i v e  410~  4x3 do c till4

fhud9n  7 dutou

&4?b F(x)  = x4 + c

‘I f(x) dx = F(x)  + C
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qmila J (f(x)  + g(x))  dx = J f(x) dx + J g(x) dx
pit  4 Jcf(x>dx  - c J f(x) dx do c tfhNhud

dkldld 8.4.8
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1 9un-t J4*

J 4dx - 4 J dx

- 4x+c
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I
x5  d x

J x5dx  -
x5+1

5+1
+ c

6
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9un-i J (3x2 - 2x)  dx

J
(3x2 - 2x) dx = J 3x2  dx - J2x dx

- 3 x*dx-2  xdxJ J /



2+1 x1+1
I 3 (* + Cl) - 2 \1+1 + C2)

3 2
I 3(~+c)-z(~+c)3 21

I x3 + 3c1  - x2 - 2c2

= 3 2x - x  +  (3C -
1

2 c  )
2

3 2- x-x+c

(hIPI  c ri7lhdkfuLsUULLnU  3c1 - 2C2)
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J (15x4-8x3+3x2-2x+1)
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(15x4 - 8x3  + 3x2 - 2x + 1) dx
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K5rdl4d  8.4.7 wni J (2x3+3 4x - ix5 + ,$ + 5) dx

1
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3- -

(2x3+3x’-4--‘+2x 2 +5) d x

- (2& +  I3xtx  - /4x-5dx  +  pti  +  j5dx

3+1 $1

* 2 ‘*I  +3  +-
-5+1

5 +1
I-4 (* > +2tx

- + +1

- + +1
1+5x+c

4 3 1
I

I+ ?2 x  + x
- 4  _ 4x-  T +5x+c

4
I

F- + 2 x  +F t4  - k + 5x+c
fi

K?a?hii  EA.8 wn7 J (x
3 - 2j2 d x
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- J 4x3  4) dx dx + J 4 d x
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I J x2 dx - J Jclx + x-2 dx
3 -1

- x--x+2 + c
3 -1

I f3-.-$+c
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3x
+ c
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J sxdx
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J (L +6 -2.4) dx
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8)

9)

10)

11)
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J (2 /ii - x J;;  + 3x2 G .) dx

J
(L+f-E
G

-$I  dx

(4x3 -G +4 G-5  +4)  dx
X3

Jx7

I (3x2 - 4>2  dx

J (2 - 5~)~ dx

J ( 4x4  + 3x3  +32x  + 5 -) dx
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ua~rsm  lh C f(a) A x  +  f(x,)  A X  +  f(x2)  A x  + 000  + f(xnml > Ax]
n - -

J
b

f(x) dx
a

- If(x)  ci]: F(x)]“,  = F ( b )  - F ( a )

2

J x2  dx = 1 x2  dx]:
1

J b

#xldwd 8.6.2 wllr;l x3 dx
a

J
b

J 1
b

%lil x3dx  = x3  dx
a a

4 1
b

-%  a



b4  a4I- - -
4 4
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9un&u0u
I

(x2 + 4) dx
1

I 2 (x2 2+ 4) d x - I
(x2 + 4) dx

1

I

1

3 a
- :+4x 1 1e

23
- (? +4(2))-($ + 4(l))

wm& I
3

(3 - x)~  dx
-2

I
3

ai1 (3-~)~d,- J
3

( 9 - 6 x + x 2 )  d x
- 2 -2

I 7
3= (9- 6x + x2)  dx
- 2

2
I *A$+$

3 31 - 2

- 9x - 3x2 + $
3 3

3 - 2

- (90)  - 3(3)2 + y3) - (9(-2)-3(-2)2 + y31

= (27 - 27 + s) - (-18 - 12 - f )
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1

2
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1

- x”]: - x3];+  x2 1: + sx]:
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- 5(1 1)

- 15 -7 + 3 + 5 = 16
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-2

2
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1;; dx

2
=4x -$

1 2-2 3 1 - 2

- (4(2) 23  -3)- 4(-2))  - c3  - 3

2.

3.

4 2
1.1) J 5x dx 1.4) J (3x2 -4)2  dx

2 -3

I

3
1.2) (3-2x+5x2)  d x

0 195) 2 y dx
1

1.3) 2 1(-3 +i ,) d x
1 x x2

9~~‘I~mm7ffufi  ~s&un77vI  y - x3 + x2 hkunu X
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